# GROUP INVERSE AND GENERALIZED DRAZIN INVERSE OF BLOCK MATRICES IN A BANACH ALGEBRA 

Dijana Mosić


#### Abstract

Necessary and sufficient conditions for the existence of the group inverse of an anti-triangular block matrix in Banach algebras are presented. Using these results, we give the formulae for the generalized Drazin inverse of a block matrix.


## 1. Introduction

Let $\mathcal{A}$ be a complex unital Banach algebra with unit 1 . The sets of all invertible and quasinilpotent elements $(\sigma(a)=\{0\})$ of $\mathcal{A}$ will be denoted by $\mathcal{A}^{-1}$ and $\mathcal{A}^{\text {qnil }}$, respectively.

The group inverse of $a \in \mathcal{A}$ is the unique element $a^{\#} \in \mathcal{A}$ which satisfies

$$
a^{\#} a a^{\#}=a^{\#}, \quad a a^{\#} a=a, \quad a a^{\#}=a^{\#} a
$$

If the group inverse of $a$ exists, $a$ is group invertible. Denote by $\mathcal{A}^{\#}$ the set of all group invertible elements of $\mathcal{A}$.

The generalized Drazin inverse of $a \in \mathcal{A}$ (or Koliha-Drazin inverse of $a$ ) is the unique element $a^{d} \in \mathcal{A}$ which satisfies

$$
a^{d} a a^{d}=a^{d}, \quad a a^{d}=a^{d} a, \quad a-a^{2} a^{d} \in \mathcal{A}^{q n i l} .
$$

Recall that $a^{\pi}=1-a a^{d}$ is the spectral idempotent of $a$ corresponding to the set $\{0\}[9]$. We use $\mathcal{A}^{d}$ to denote the set of all generalized Drazin invertible elements of $\mathcal{A}$.

We state the following result which is proved for matrices [8, Theorem 2.1], for bounded linear operators [7, Theorem 2.3] and for elements of Banach algebras [4].
Lemma 1.1 ([4, Example 4.5]). Let $a, b \in \mathcal{A}^{d}$ and let $a b=0$. Then

$$
(a+b)^{d}=\sum_{n=0}^{\infty}\left(b^{d}\right)^{n+1} a^{n} a^{\pi}+\sum_{n=0}^{\infty} b^{\pi} b^{n}\left(a^{d}\right)^{n+1}
$$

Received April 2, 2013; Revised January 27, 2014.
2010 Mathematics Subject Classification. 46H05, 47A05, 15 A09.
Key words and phrases. generalized Drazin inverse, reverse order law, block matrix.
The work is supported by the Ministry of Education and Science, Republic of Serbia, grant no. 174007 .

The group inverse and Drazin inverse of an operator or a matrix has various applications in singular differential equations and singular difference equations, Markov chains, numerical analysis, probability statistical and so on [2]. Several authors have investigated representations for the group inverse and Drazin inverse of an anti-triangular block operator or matrix, under some conditions on the individual blocks $[1,3,5,6,10]$.

Liu and Yang [10] studied necessary and sufficient conditions for the existence of the group inverse of an anti-triangular block matrix, using the rank of block matrices.

If $p=p^{2} \in \mathcal{A}$ is an idempotent, we can represent element $a \in \mathcal{A}$ as

$$
a=\left[\begin{array}{ll}
a_{11} & a_{12} \\
a_{21} & a_{22}
\end{array}\right],
$$

where $a_{11}=p a p, a_{12}=p a(1-p), a_{21}=(1-p) a p, a_{22}=(1-p) a(1-p)$.
Let

$$
x=\left[\begin{array}{ll}
a & b  \tag{1}\\
c & d
\end{array}\right] \in \mathcal{A}
$$

relative to the idempotent $p \in \mathcal{A}$ and $b c \in(p \mathcal{A} p)^{\#}$. For $d=0$ in (1), $x$ is an antitriangular block matrix. We are going to study the equivalent conditions for the existence and the representations for the group inverse of the anti-triangular block matrix. Then, applying these results, we show some expressions for the generalized Drazin inverse of a block matrix in (1), where $d \in((1-p) \mathcal{A}(1-p))^{d}$, under certain conditions involving the group inverse of the product $b c$.

Lemma 1.2. Let $p \in \mathcal{A}$ be an idempotent, $b \in p \mathcal{A}(1-p), c \in(1-p) \mathcal{A} p$ and $b c \in(p \mathcal{A} p)^{\#}$. If $(b c)^{\pi} b=0$ or $c(b c)^{\pi}=0$, then $c b \in((1-p) \mathcal{A}(1-p))^{\#}$ and $(c b)^{\#}=c\left[(b c)^{\#}\right]^{2} b$.
Proof. Denote by $z=c\left[(b c)^{\#}\right]^{2} b$. It follows that $z c b=c(b c)^{\#} b=c b z$ and $z c b z=z$. If $(b c)^{\pi} b=0$ or $c(b c)^{\pi}=0$, then $c b z c b=c b c(b c)^{\#} b=c b$. So, $c b \in((1-p) \mathcal{A}(1-p))^{\#}$ and $(c b)^{\#}=z$.

## 2. Results

First, we present the necessary and sufficient conditions for the existence of the group inverse of the anti-triangular block matrix.

Theorem 2.1. Let $x=\left[\begin{array}{ll}a & b \\ c & 0\end{array}\right] \in \mathcal{A}$ relative to the idempotent $p \in \mathcal{A}$ and $b c \in(p \mathcal{A} p)^{\#}$. Then $a(b c)^{\pi}=0, c(b c)^{\pi}=0$ and $(b c)^{\pi} b=0$ if and only if $x \in \mathcal{A}^{\#}$ and $x^{\#}=t$, where

$$
t=\left[\begin{array}{cc}
(b c)^{\pi} a(b c)^{\#} & (b c)^{\#} b-(b c)^{\pi} a(b c)^{\#} a(b c)^{\#} b  \tag{2}\\
c(b c)^{\#} & -c(b c)^{\#} a(b c)^{\# b} b
\end{array}\right]
$$

Proof. If $a(b c)^{\pi}=0, c(b c)^{\pi}=0$ and $(b c)^{\pi} b=0$, we can easy verify that $x t=t x$, $t x t=t$ and $x t x=x$. Thus, $x \in \mathcal{A}^{\#}$ and $x^{\#}=t$.

Suppose that $x \in \mathcal{A}^{\#}$ and the group inverse $x^{\#}$ is represented by $t$ in (2). Then, $\left[x x^{\#}\right]_{21}=\left[x^{\#} x\right]_{21}$ gives

$$
\begin{equation*}
c(b c)^{\#} a(b c)^{\pi}=c(b c)^{\pi} a(b c)^{\#} \tag{3}
\end{equation*}
$$

From $\left[x x^{\#} x\right]_{11}=[x]_{11},\left[x x^{\#} x\right]_{21}=[x]_{21}$ and $\left[x x^{\#} x\right]_{12}=[x]_{12}$, we have

$$
\begin{equation*}
a(b c)^{\pi}=a(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi}+b c(b c)^{\#} a(b c)^{\pi} \tag{4}
\end{equation*}
$$

$$
\begin{gather*}
c(b c)^{\pi}=c(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi}  \tag{5}\\
(b c)^{\pi} b=a(b c)^{\pi} a(b c)^{\#} b \tag{6}
\end{gather*}
$$

$=\left[x^{\#}\right]_{11}$ implies

$$
\begin{equation*}
(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi} a(b c)^{\#}=0 \tag{7}
\end{equation*}
$$

Applying the equality (5) twice and (7), we get

$$
c(b c)^{\pi}=c(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi}=c(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi}=0 .
$$

By (4), (3) and the previous equality, observe that

$$
a(b c)^{\pi}=a(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi}+b c(b c)^{\pi} a(b c)^{\#}=a(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi}
$$

which yields

$$
a(b c)^{\pi}=a(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi} a(b c)^{\#} a(b c)^{\pi}
$$

Now, (7) gives $a(b c)^{\pi}=0$. Using this equality and (6), we deduce that $(b c)^{\pi} b=$ 0 .

If we state the condition $(b c)^{\pi} a=0$ instead of the assumption $a(b c)^{\pi}=0$ of Theorem 2.1, we obtain the following result in an analogous manner as in the proof of Theorem 2.1.
Theorem 2.2. Let $x=\left[\begin{array}{cc}a & b \\ c & 0\end{array}\right] \in \mathcal{A}$ relative to the idempotent $p \in \mathcal{A}$ and $b c \in(p \mathcal{A} p)^{\#}$. Then $(b c)^{\pi} a=0, c(b c)^{\pi}=0$ and $(b c)^{\pi} b=0$ if and only if $x \in \mathcal{A}^{\#}$ and $x^{\#}=u$, where

$$
u=\left[\begin{array}{cc}
(b c)^{\#} a(b c)^{\pi} & (b c)^{\# b} b  \tag{8}\\
c(b c)^{\#}-c(b c)^{\#} a(b c)^{\#} a(b c)^{\pi} & -c(b c)^{\#} a(b c)^{\#} b
\end{array}\right] .
$$

Observe that in Theorem 2.1 and Theorem 2.2 we obtain the same expressions for the group inverse as in [10, Theorem 2.4 and Theorem 2.5] but under different conditions.

Since the hypothesis $b c \in(p \mathcal{A} p)^{-1}$ implies $(b c)^{\pi}=0$, the next corollary follows by Theorem 2.1 and Theorem 2.2.

Corollary 2.1. Let $x=\left[\begin{array}{cc}a & b \\ c & 0\end{array}\right] \in \mathcal{A}$ relative to the idempotent $p \in \mathcal{A}$ and $b c \in(p \mathcal{A} p)^{-1}$. Then $x \in \mathcal{A}^{\#}$ and

$$
x^{\#}=\left[\begin{array}{cc}
0 & (b c)^{\#} b \\
c(b c)^{\#} & -c(b c)^{\#} a(b c)^{\#} b
\end{array}\right] .
$$

Now, we use the previous results to determine the new expressions of the generalized Drazin inverse of a block matrix $x$ in (1), where $b c \in(p \mathcal{A} p)^{\#}$ and $d \in((1-p) \mathcal{A}(1-p))^{d}$.
Theorem 2.3. Let $x$ be defined as in (1), $d \in((1-p) \mathcal{A}(1-p))^{d}$ and $b c \in$ $(p \mathcal{A} p)^{\#}$. If

$$
b d=0, \quad a(b c)^{\pi}=0, \quad c(b c)^{\pi}=0, \quad \text { and } \quad(b c)^{\pi} b=0
$$

then $x \in \mathcal{A}^{d}$ and

$$
x^{d}=\left[\begin{array}{cc}
0 & 0  \tag{9}\\
0 & d^{d}(c b)^{\pi}
\end{array}\right]+\left[\begin{array}{cc}
p & 0 \\
0 & d^{\pi}
\end{array}\right] t+\sum_{n=1}^{\infty}\left[\begin{array}{cc}
0 & 0 \\
0 & d^{\pi} d^{n}
\end{array}\right] t^{n+1}
$$

where $t$ is defined as in (2).
Proof. We can write

$$
x=\left[\begin{array}{ll}
a & b  \tag{10}\\
c & 0
\end{array}\right]+\left[\begin{array}{ll}
0 & 0 \\
0 & d
\end{array}\right]:=y+z .
$$

The hypothesis $b d=0$ gives $y z=0$. Applying Theorem 2.1, note that $y \in \mathcal{A}^{\#}$ and $y^{\#}=t$. By Lemma 1.2, we deduce that $c b \in((1-p) \mathcal{A}(1-p))^{\#}$ and $(c b)^{\pi}=(1-p)-c b c\left[(b c)^{\#}\right]^{2} b=(1-p)-c(b c)^{\#} b$. Now, we have

$$
y^{\pi}=1-y y^{\#}=\left[\begin{array}{cc}
(b c)^{\pi} & -(b c)^{\pi} a(b c)^{\#} b \\
0 & (c b)^{\pi}
\end{array}\right] .
$$

Obviously, $z \in \mathcal{A}^{d}$,

$$
z^{d}=\left[\begin{array}{cc}
0 & 0 \\
0 & d^{d}
\end{array}\right] \quad \text { and } \quad z^{\pi}=\left[\begin{array}{cc}
p & 0 \\
0 & d^{\pi}
\end{array}\right]
$$

Using Lemma 1.1 and $y y^{\pi}=0$, we obtain $x \in \mathcal{A}^{d}$ and

$$
x^{d}=z^{d} y^{\pi}+z^{\pi} y^{\#}+\sum_{n=1}^{\infty} z^{\pi} z^{n}\left(y^{\#}\right)^{n+1}
$$

implying (9).
Applying Theorem 2.3, we show the next result.
Corollary 2.2. Let $x$ be defined as in (1), $t$ be defined as in (2) and $b c \in$ $(p \mathcal{A} p)^{\#}$. Suppose that $b d=0, a(b c)^{\pi}=0, c(b c)^{\pi}=0$ and $(b c)^{\pi} b=0$.
(i) If $d \in((1-p) \mathcal{A}(1-p))^{\#}$, then $x \in \mathcal{A}^{\#}$ and

$$
x^{\#}=\left[\begin{array}{cc}
0 & 0  \tag{11}\\
0 & d^{\#}(c b)^{\pi}
\end{array}\right]+\left[\begin{array}{cc}
p & 0 \\
0 & d^{\pi}
\end{array}\right] t .
$$

(ii) If $d \in((1-p) \mathcal{A}(1-p))^{q n i l}$, then $x \in \mathcal{A}^{d}$ and

$$
x^{d}=t+\sum_{n=1}^{\infty}\left[\begin{array}{cc}
0 & 0 \\
0 & d^{n}
\end{array}\right] t^{n+1} .
$$

Proof. (i) Denote by $y$ the right hand side of (11). By Theorem 2.3 and $d d^{\pi}=0$, we get $x \in \mathcal{A}^{d}$ and $x^{d}=y$. We can check that $x=x^{2} y$ and so $x^{\#}=y$.
(ii) This part follows from $d^{d}=0$ and Theorem 2.3.

If we replace the assumption $b d=0$ of Theorem 2.3 with $d c=0$, we prove the following theorem.

Theorem 2.4. Let $x$ be defined as in (1), $d \in((1-p) \mathcal{A}(1-p))^{d}$ and $b c \in$ $(p \mathcal{A} p)^{\#}$. If

$$
d c=0, \quad a(b c)^{\pi}=0, \quad c(b c)^{\pi}=0 \quad \text { and } \quad(b c)^{\pi} b=0
$$

then $x \in \mathcal{A}^{d}$ and
(12) $x^{d}=t\left[\begin{array}{cc}p & 0 \\ 0 & d^{\pi}\end{array}\right]+\left[\begin{array}{cc}0 & -(b c)^{\pi} a(b c)^{\#} b d^{d} \\ 0 & (c b)^{\pi} d^{d}\end{array}\right]+\sum_{n=1}^{\infty} t^{n+1}\left[\begin{array}{cc}0 & 0 \\ 0 & d^{\pi} d^{n}\end{array}\right]$,
where $t$ is defined as in (2).
Proof. If $x$ is represented as in (10), then $z y=0$. Similarly as in the proof of Theorem 2.3, by Lemma 1.1, we verify the formula (12).

As a consequence of Theorem 2.4, we present the next formula for the group inverse $x^{\#}$ involving the group inverse of $d$.

Corollary 2.3. Let $x$ be defined as in (1), $t$ be defined as in (2), $d \in((1-$ p) $\mathcal{A}(1-p))^{\#}$ and $b c \in(p \mathcal{A} p)^{\#}$. If $d c=0, a(b c)^{\pi}=0, c(b c)^{\pi}=0$ and $(b c)^{\pi} b=0$, then $x \in \mathcal{A}^{\#}$ and

$$
x^{\#}=t\left[\begin{array}{cc}
p & 0 \\
0 & d^{\pi}
\end{array}\right]+\left[\begin{array}{cc}
0 & -(b c)^{\pi} a(b c)^{\#} b d^{\#} \\
0 & (c b)^{\pi} d^{\#}
\end{array}\right]
$$

By Theorem 2.2, we get the following representations for the generalized Drazin inverse of $x$.

Theorem 2.5. Let $x$ be defined as in $(1), d \in((1-p) \mathcal{A}(1-p))^{d}$ and $b c \in$ $(p \mathcal{A} p)^{\#}$. If

$$
b d=0, \quad(b c)^{\pi} a=0, \quad c(b c)^{\pi}=0 \quad \text { and } \quad(b c)^{\pi} b=0
$$

then $x \in \mathcal{A}^{d}$ and

$$
\begin{align*}
x^{d}= & {\left[\begin{array}{cc}
0 & 0 \\
-d^{d} c(b c)^{\#} a(b c)^{\pi} & d^{d}(c b)^{\pi}
\end{array}\right]+\left[\begin{array}{cc}
p & 0 \\
0 & d^{\pi}
\end{array}\right] u } \\
& +\sum_{n=1}^{\infty}\left[\begin{array}{cc}
0 & 0 \\
0 & d^{\pi} d^{n}
\end{array}\right] u^{n+1} \tag{13}
\end{align*}
$$

where $u$ is defined as in (8).
Proof. Assume that $x$ is presented as in (10), then $z \in \mathcal{A}^{d}, y \in \mathcal{A}^{\#}, y^{\#}=u$ and

$$
y^{\pi}=\left[\begin{array}{cc}
(b c)^{\pi} & 0 \\
-c(b c)^{\#} a(b c)^{\pi} & (c b)^{\pi}
\end{array}\right] .
$$

Since $y z=0$, applying Lemma 1.1, we get the representation (13) of $x^{d}$.
The next corollary follows directly from Theorem 2.5.
Corollary 2.4. Let $x$ be defined as in (1), $u$ be defined as in (8) and $b c \in$ $(p \mathcal{A} p)^{\#}$. Suppose that $b d=0,(b c)^{\pi} a=0, c(b c)^{\pi}=0$ and $(b c)^{\pi} b=0$.
(i) If $d \in((1-p) \mathcal{A}(1-p))^{\#}$, then $x \in \mathcal{A}^{\#}$ and

$$
x^{\#}=\left[\begin{array}{cc}
0 & 0 \\
-d^{\#} c(b c)^{\#} a(b c)^{\pi} & d^{\#}(c b)^{\pi}
\end{array}\right]+\left[\begin{array}{cc}
p & 0 \\
0 & d^{\pi}
\end{array}\right] u .
$$

(ii) If $d \in((1-p) \mathcal{A}(1-p))^{q n i l}$, then $x \in \mathcal{A}^{d}$ and

$$
x^{d}=u+\sum_{n=1}^{\infty}\left[\begin{array}{cc}
0 & 0 \\
0 & d^{n}
\end{array}\right] u^{n+1} .
$$

Using the condition $d c=0$ instead of $b d=0$ in Theorem 2.5, we can obtain the another formula for $x^{d}$.
Theorem 2.6. Let $x$ be defined as in (1), $d \in((1-p) \mathcal{A}(1-p))^{d}$ and $b c \in$ $(p \mathcal{A} p)^{\#}$. If

$$
d c=0, \quad(b c)^{\pi} a=0, \quad c(b c)^{\pi}=0 \quad \text { and } \quad(b c)^{\pi} b=0
$$

then $x \in \mathcal{A}^{d}$ and

$$
x^{d}=u\left[\begin{array}{cc}
p & 0 \\
0 & d^{\pi}
\end{array}\right]+\sum_{n=1}^{\infty} u^{n+1}\left[\begin{array}{cc}
0 & 0 \\
0 & d^{\pi} d^{n}
\end{array}\right]+\left[\begin{array}{cc}
0 & 0 \\
0 & (c b)^{\pi} d^{d}
\end{array}\right]
$$

where $u$ is defined as in (8).
We verify the next result by Theorem 2.6.
Corollary 2.5. Let $x$ be defined as in (1), $u$ be defined as in (8), $d \in((1-$ p) $\mathcal{A}(1-p))^{\#}$ and $b c \in(p \mathcal{A} p)^{\#}$. If $d c=0,(b c)^{\pi} a=0, c(b c)^{\pi}=0$ and $(b c)^{\pi} b=0$, then $x \in \mathcal{A}^{\#}$ and

$$
x^{\#}=u\left[\begin{array}{cc}
p & 0 \\
0 & d^{\pi}
\end{array}\right]+\left[\begin{array}{cc}
0 & 0 \\
0 & (c b)^{\pi} d^{d}
\end{array}\right] .
$$

## References

[1] C. Bu, J. Zhao, and K. Zhang, Some results on group inverses of block matrices over skew fields, Electron. J. Linear Algebra 18 (2009), 117-125.
[2] S. L. Campbell and C. D. Meyer, Generalized Inverses of Linear Transformations, Pitman, London, 1979.
[3] N. Castro-González and E. Dopazo, Representations of the Drazin inverse for a class of block matrices, Linear Algebra Appl. 400 (2005), 253-269.
[4] N. Castro-González and J. J. Koliha, New additive results for the $g$-Drazin inverse, Proc. Roy. Soc. Edinburgh Sect. A 134 (2004), no. 6, 1085-1097.
[5] C. Cao and J. Li A note on the group inverse of some $2 \times 2$ block matrices over skew fields, Appl. Math. Comput. 217 (2011), no. 24, 10271-10277.
[6] C. Deng and Y. Wei, A note on the Drazin inverse of an anti-triangular matrix, Linear Algebra Appl. 431 (2009), no. 10, 1910-1922.
[7] D. S. Djordjević and Y. Wei, Additive results for the generalized Drazin inverse, J. Aust. Math. Soc. 73 (2002), no. 1, 115-125.
[8] R. E. Hartwig, G. Wang, and Y. Wei, Some additive results on Drazin inverse, Linear Algebra Appl. 322 (2001), no. 1-3, 207-217.
[9] J. J. Koliha, A generalized Drazin inverse, Glasgow Math. J. 38 (1996), no. 3, 367-381.
[10] X. Liu and H. Yang, Further results on the group inverses and Drazin inverses of antitriangular block matrices, Appl. Math. Comput. 218 (2012), no. 17, 8978-8986.

Faculty of Sciences and Mathematics
University of Niš
P.O. Box 224,18000 Niš, Serbia

E-mail address: dijana@pmf.ni.ac.rs

